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hAakEs ko | 107.04.17~18 | 61.4 | 905 | 63.2 | 58.6 | 56.9 |. _ ..«

107.04.17~18 | 70.2 | 95.4 | 71.8 | 69.6 | 65.1

L4 LRIRIRFT RIS RS
H =~ :dB
P L | L | L Lvios | BEFA
_Ep—: BB g}, veq vmax V10 n V10 3 R
PR e B RT 107.04.17~18 41.6 60.2 46.9 43.1
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AFZTRPY 107 £ 6 7 21 pieiT o FREP SoKE ~pH 33
LT3 E-EF iﬁ\%%ﬁ@~%%ﬁﬁﬁ~§§\m%«i\ﬁp%ﬁ~
TR ERE S TAEB B s ()R e (L K)o Rl 10
F-1-104-2-20%-12 20 42w iplsb2 £ K ~ ¢ K2 R K 0 2 plIEIOG L
B B KRR TR BERRE T MO e R AR L B AR ST
B g REFNHEA o TRS RAcR 5 B TRl % 13~F 26 -

%\ p/?]"\,h/“ J\?ﬁ-?‘/? ﬁ%ﬁ-fﬁ:%’

B 10 +-1 10 -2 20 k-1 20 # -2 o e B
L R KA
AR CA D RE AR | PR | RE AR PR AR | AR | PR AR -
KR C 273 | 268 | 252 | 275 | 26.2 | 245 | 27.7 | 271 | 258 | 282 | 265 | 243 —
pH & — 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.3 7.5~8.5
o mg/L | 5.5 54 5.3 55 5.3 5.3 5.6 5.6 55 5.8 5.6 5.5 >5.0

itz %F € |mg/L| 11 1.0 11 1.2 1.0 1.0 1.0 10 | <10 | <10 | 1.0 11 <3.0

tEZFE mg/L | 7.8 7.4 8.5 7.5 7.6 7.2 8.4 8.1 8.0 8.2 7.4 7.9 —

"iFFH mg/L | 8.8 2.6 14 | <10 | 24 24 2.8 3.0 1.8 2.2 2.6 2.8 —

3% mg/L | 0.13 | 0.15 | 0.13 | 0.12 | 0.13 | 0.13 | 0.15 | 015 | 0.19 | 0.19 | 0.23 | 0.18 —

b ] mg/L | 044 | 058 | 041 | 0.45 | 0.58 | 0.47 | 046 | 044 | 047 | 0.47 | 0.39 | 0.38 —

TR mg/L | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 | 0.03 —

SRR AR l((:)grLTJ]{_ <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 | <10 —

T M g mg/L | <1.0 2.3 <10 | <10 | <10 | <10 | <10 | <10 | <10 | <1.0 | <1.0 | <10 2.0

Byl g mg/L | 056 | 0.55 | 0.64 | 0.69 | 0.70 | 0.78 | 0.65 | 0.67 | 0.48 | 0.49 | 0.60 | 0.40 —

%% ¥ |mg/L| 06 | 05 | 05 | 05 | 05 | 05 | 04 | 04 | 04 | 04 | 04 | 05 -

=~ Ji mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1

- w mg/L | N.D. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1

5P mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1

pE—

AR O mg/L | N.D. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1

L% % mg/L | N.D. | ND. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1

g 1 mg/L | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. | N.D. 0.1

Pt ] cm/s | 5.63 - - 4.19 - - 6.58 - - 7.12 - - -
el — |aasd - - lmead - - R - S R O B - —

o TRlpW107E6% 21 p o
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